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v é Q;? m\gj’ Multipliser desimaler med 10 100 000 000

StudentName: __ ExamDate: __ ExamScore: ____
8,89 x 100 = 9,62 x 1000 =
7,464 x 10 = 8,39 x 100 =
7,964 x 100 = 4,266 x 10 =
8,879 x 10 = 5,154 x 10 =
9,418 x 10 = 10, 134 x 100 =
5,298 x 1000 = 2,4x10=
7,682 x 1000 = 7,619 x 100 =
1,154 x 10 = 2,327 x 10 =
2,588 x 10 = 4,73 x 10 =
8,01 x 100 = 7,94 x 1000 =
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StudentName: _ ExamDate: _~ ExamScore:
8,89 x 100 = 889 9,62 x 1000 = 9620
7,464 x 10 = 74.64 8,39 x 100 = 839
7,964 x 100 = 796.4 4,266 x 10 = 42.66
8,879 x 10 = 88.79 5,154 x 10 = 51.54
9,418 x 10 = 94.18 10, 134 x 100 = 1013.4
5,298 x 1000 = 5298 2,4x10=24
7,682 x 1000 = 7682 7,619 x 100 = 761.9
1,154 x 10 = 11.54 2,327 x 10 = 23.27
2,588 x 10 = 25.88 4,73 x 10 = 47.3
8,01 x 100 = 801 7,94 x 1000 = 7940
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